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aA(a) +bB(5) =IL(y) +mM(0)
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AtHgp
Cy nf( FK-2mol-2) — 37.1 33.58 29.12




AH, =A, H 2 (298.15K)
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3-6-4 CO(g) + H,0(g) =H,(g) + CO,(9)

800 KO =1
1 CO H,O ¢ 800
CO
2 CO H,O ¢ 1:5 CO
1 CcO a
CO(g) +H,0(g) =H,(g) +CO,(9)
1 1 0] 0]
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3-7-1 C,H,4(9) +H,0(g) =C,H;0H (g)

208K 400K 27.33 0.24 AHO
350K A C, =0
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N,O, g =2NO, ¢
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nCzHe :nHZO =110 1OOkPa
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3-6-5 Ag,CO; (s) Ag,0 (s) CO, (9)
Ag,CO, (s) 110
A92CO3 (S) COz(g) P002
Ag,CO,4(s)
Ag,CO; (s) = Ag,0 (s) + CO,(9)
AHn  383.15K  78.372kJ-mol? A.s° 383.15K
168J-K-1t-mol-1
AGe= OHp -383.15K- AS;
= 78372 — 383.15x 168 J-molt = 14002 J-mol*

K ©(383.15K) = exp[-A, G? (383.15K)/R [B83.15K ] = 0.01194
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1 CH,Cl g +H,O g =CH,OH g +HCI g9
2 2CH,OH g = (CH;)O g +H,O g
1 + 2 3
3 CH,CI g +CH,OH g = (CH;),0 g +HCI ¢
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NH, I 402.5
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(pe)( p® =K (x-2y) °
xy2 = KK £ p®’ =l pe KPS

x=pO(KP + 2K K )2
x = 53.06kPa
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P=Pnu, t P TPy, TP, =X+ (Xx—2y)+2y=2x=106.12kPa
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1 C(HC,H, g =C,H,C,H;, g +H, g
A, Gy, =83.228kJ ol ~* H ,
9 .
2 H, g + 20, g = H,O ¢
A, Gy, =-22857kJ Onol ™
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3 CgHsCHs g + 20, g =CgHCH; g +H,0 g

Ar(-:"r?,B s Ar(-:"r?,l + Ar(-:"r?,z
= (83.228 - 228.7)kJ (ol * = —145.34kJ Omol ™
D,GS3= 0



